Assignment

Solve each equation by factoring.

1) b?+15=8b

3) 3n? + 96 = 36n

5) 2x* + 6x=—4

7) p*-40=3p
9) n*=-5n
11) 2m* = 16m

13) 6x* — 60x = —96

15) n* —6n=-9

17) n* +8n=-15

19) a’=5a+6

21) k* —k=30

23) n*—8="7n
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Name

ID: 1
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2) vi=-3—4v

4) 2x* =18

6) a’=-5—6a

8) k2 — 7 = 6k

10) x* =56 —x

12) 6r* + 36 =30r

14) b*=—-6b -5

16) 4v? = 64

18) 4x* =-16 — 20x

20) 7x* =56x

22) 5k* — 105 = —20k

24) 7p*=-56+63p
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Answers to Assignment (ID: 1)

1) {3,5} 2) {-1,-3} 3) {8,4} 4) {3,-3}
5) {-1, -2} 6) {-5,—1} 7) {-5, 8} 8) {-1,7}
9) {-5,0} 10) {7, -8} 11) {8, 0} 12) {3, 2}
13) {8, 2} 14) {-1, -5} 15) {3} 16) {4, -4}
17) {-5,-3} 18) {-1, -4} 19) {-1, 6} 20) {8, 0}
21) {-5,6} 22) {3,-7} 23) {8, -1} 24) {8, 1}
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Assignment

Solve each equation by factoring.

1) n?+7=-8n

3) 6r? +42r=-36

5) x* +2x=15

7) x* — 16 = 6x

9) x* +8x=-15

11) 3k* =45k — 168

13) x* - 7x=8

15) r* +4r=5

17) 8m* =38

19) 7n* - 105 =—14n

21) 7v? +70v =-175

23) 5a% = 65a—200

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 2
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Period

2) x> +4x=32

4) 7Tm* — 168 = —14m

6) 3n’=6n+9

8) v’ =8v

10) b*+5b=0

12) p*=-32+12p

14) a’-a=6

16) x* =2x

18) 7b* —336=14b

20) x? —32=4x

22) n* =16

24) k* — 10k =24
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Answers to Assignment (ID: 2)

1) {-1,-7} 2) {4,-8} 3) {-1, -6} 4) {4, -6}
5) {-5, 3} 6) {-1,3} 7) {8, -2} 8) {8,0}

9) {-5,-3} 10) {-5, 0} 11) {8, 7} 12) {4, 8}
13) {-1, 8} 14) {3, -2} 15) {-5, 1} 16) {2, 0}
17) {-1, 1} 18) {8, -6} 19) {-5, 3} 20) {8, -4}
21) {-5} 22) {4, -4} 23) {8, 5} 24) {4, 6}
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Assignment
Solve each equation by factoring.

1) x* —6x=7

3) x> =2x+38

5) 2n? —2n=112

7) x* =—40 — 13x

9) 8n* —16n=24

11) 7b* + 112 = 56b

13) 7x* = 14x

15) x* +20 =-9x

17) 5x* =320 + 80x

19) 4n*=-16n+ 128

21) 4r* =—16 +20r

23) 2n* - 12n=-16

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 3

Date

Period

2) k* +5k=0

4) 2m* + 6m = 56

6) 7p*=56+49p

8) r’ —48=2r

10) x*=-12+7x

12) v? =30 =-v

14) a’=-10-"7a

16) k* +56 = 15k

18) p*-2p=35

20) 3x* =6+ 3x

22) 8m? =32m + 256

24) b =-5b+6
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Answers to Assignment (I1D: 3)

1) {-1,7} 2) {-5,0} 3) {4, -2} 4) {4, -7}
5) {8, -7} 6) {8,—1} 7) {-5, -8} 8) {8, -6}
9) {-1,3} 10) {4, 3} 11) {4} 12) {5, -6}
13) {2, 0} 14) {-5, -2} 15) {-5, -4} 16) {8, 7}
17) {8} 18) {-5,7} 19) {4, -8} 20) {-1,2}
21) {4, 1} 22) {8, -4} 23) {4,2} 24) {-6, 1}
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Assignment

Solve each equation by factoring.

1) v2 +25=—-10v

3) a’ - 13a=-40

5) k* —k=20

7) x* —11x=-28

9) n>-8="7n

11) 7n* — 147 = -28n

13) m? + 12m =-35

15) 4x* +8x =32

17) v —12v=-32

19) x*=-11x-24

21) 2x* =32

23) k? —6k=16

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 4
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Period

2) 5x* — 105 = 20x

4) 8n? + 160 =—72n

6) 7x* = 56x

8) m? —4=3m

10) p?>-6p=-5

12) 5x* =160 — 20x

14) r* = —6r

16) 3n* -33n=-72

18) b*+4b=0

20) a’-a=12

22) 8p? =-224+88p

24) x* +5x=-6

math-worksheet.org



Answers to Assignment (ID: 4)

1) {-5} 2) {-3,7} {8 } 4) {-5,-4}
9) {8,-1} 10) {5, 1} 11) {3 7} 12) {4, -8}
13) {-5,-7} 14) {-6, 0} 15) {4, 2} 16) {8, 3}

17) {8, 4) 18) {-4,0} 19) {-8,-3} 20) {4, -3}
21) {4, -4} 22) {4,7} 23) {-2,8) 24) {-2,-3)
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Assignment
Solve each equation by factoring.

1) n* =3n=40

3) 5r* =-20r

5) 5v* —120=-10v

7) 5b* —240=10b

9) 2a’-30=-4a

11) 2k* — 18k =—40

13) x* =2x+24

15) p*-8="7p

17) m* = —4m

19) 6m?* + 18m = 168

21) x> + 8 = 6X

23) 5b% - 60 =-5b

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 5

Date

Period

2) m*+10=-7m

4) 8x* = 64X

6) N> +2n=38

8) x? +40=-13x

10) n* =16

12) x*-2x=24

14) 2n* +18n=-28

16) x* —12x=-32

18) 7n* =—-112n— 448

20) r? =49

22) n*=2n+38

24) 3v* =75

math-worksheet.org



Answers to Assignment (ID: 5)

1) {-5,8} 2) {-5,-2} 3) {-4,0} 4) {8,0}

5) {4, -6} 6) {-4,2} 7) {8, -6} 8) {-8,-5}
9) {3,-5} 10) {4, -4} 11) {4, 5} 12) {6, -4}
13) {4, 6} 14) {-2, -7} 15) {8, -1} 16) {4, 8}
17) {4, 0} 18) {-8} 19) {4, -7} 20) {-7,7}
21) {4,2} 22) {-2,4} 23) {-4,3} 24) {-5, 5}
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Assignment
Solve each equation by factoring.

1) 6x* = —24x

3) 32’ +36=-2la

5) p*-10p=-24

7) x*=—X+56
9) r’=20-r
11) v = —4v

13) 7n* =—-14n + 56
15) x* —3x=40

17) k* +20 =9k

19) 6n* =—60 — 42n
21) m* =10+ 3m
23) n? —28=-3n

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 6

Date Period

2) 3x* =24x

4) k* +16 =—-10k

6) m? — 11m =24

8) 2n? + 64 =24n

10) 5x* =45x—40

12) 7b* +70 =—49b

14) a* -32=-4a

16) 6n* =—120 — 54n

18) x* —40 =-3x

20) 4x* —40x = —96

22) p?-16=0

24) b* +32=-12b
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Answers to Assignment (I1D: 6)

1) {-4,0} 2) {8,0} 3) {-4,-3} 4) {-8,-2}
5) {4, 6} 6) {3, 8} 7) {-8,7} 8) {4, 8}
9) {4,-5} 10) {1, 8} 11) {4, 0} 12) {-2,-5}
13) {4, 2} 14) {-8, 4} 15) {8, -5} 16) {-4, -5}
17) {4, 5} 18) {-8, 5} 19) {-2,-5} 20) {4, 6}
21) {5, -2} 22) {-4,4} 23) {-7,4} 24) {-4,-8}
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Assignment

Solve each equation by factoring.

1) 7n* — 112 =-42n

3) r*+56=—15r

5) x* =25

7) x*=1

9) a’=2a+15

11) 4x* =28 + 32x

13) m? —64=0

15) 5r% = —35r — 60

17) x* +24 =-10x

19) v =35-2v

21) k> -16=0

23) x* —24 =2x

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 7

Date

Period

2) 8x% +24x =132

4) b*=7b-12

6) v’ +4v =32

8) k? = —k

10) 5p* - 10p=120

12) n*=3n+28

14) 2x* + 14x =16

16) 3n*—15n=-12

18) n*=5n

20) 8a’ + 240 =-88a

22) 7x* =42x - 35

24) n* + 11n=-24
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Answers to Assignment (ID: 7)

1) {-8,2} 2) {—4, 1} 3) {-8,-7} 4) {4,3}
5) {5’_5} {_ } 7) {11_1} 8) {_1!0}
9) {5,-3} 10) {-4, 6} 11) {1, 7} 12) {-4,7}
13) {-8, 8} 14) {-8, 1} 15) {-4, -3} 16) {4, 1}
17) {-4, -6} 18) {5, 0} 19) {5, -7} 20) {-6,-5}
21) {4, 4} 22) {1, 5} 23) {-4, 6} 24) {-8,-3}
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Assignment
Solve each equation by factoring.

1) x* —5=4x

3) m*=—4m

5) 4b? + 12b =160

7) 2r =—6r—4

9) b>-8=-2b

11) x* =-20 - 9x

13) a’-20=a

15) p*=11p-30

17) 6m* — 54m = —48

19) x* —4x=-3
21) n* —4=-3n
23) N> +n=30

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 8

Date Period

2) 5p*=—45p-40

4) n>-64=0

6) 4x> — 16 =—-12x

8) n>—3n=-2

10) 2v? =—10v + 48

12) 2x* +16x=0

14) 8k* + 88k =—192

16) 7n* =245 + 84n

18) 5r? +25r=-20

20) b? =-8b

22) x* =—14x—48

24) a’ - 24 =-5a

math-worksheet.org



Answers to Assignment (I1D: 8)

1) {5,-1} 2) {-8,-1} 3) {~4, 0} 4) {-8, 8}
5) {5, -8} 6) {4, 1} 7) {-1,-2} 8) {1,2}

9) {—4,2} 10) {-8, 3} 11) { 4 -5} 12) {-8,0}
13) {5, -4} 14) {-8, -3} 15) {5, 6} 16) {5, 7}
17) {1, 8} 18) {—4, -1} 19) {1, 3} 20) {-8,0}
21) {-4, 1} 22) {-8, -6} 23) {5, -6} 24) {-8, 3}
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Assignment

Solve each equation by factoring.

1) k* =9k -20

3) x* +25=10x

5) p*+p=2

7) 4n* +32n=0

9) 6b? =30b + 144

11) 5n* +35n =40

13) V2 +3=4v

15) x*=-x+30

17) 2k* =2k

19) 3a’ =—24a—48

21) 2n% —42 =8n

23) m? - 56 =-m

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 9

Date

Period

2) 7x* —28x =35

4) 8n* —24 =-16n

6) 8m? + 64 = —48m

8) x* = —4x

10) x* +2x=35

12) r* + 64 =—16r

14) a’ +10=7a

16) 4x* —20 = —16X

18) p*>=-3p

20) 2x* =96 — 4x

22) r’=5+4r

24) x*=-32 - 12x
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Answers to Assignment (I1D: 9)

1) {54} 2) {-1,5} 3) {5} 4) {1,-3}
5) {1, -2} 6) {—4, -2} 7) {-8,0} 8) {4, 0}
9) {-3,8} 10) {5, -7} 11) {-8, 1} 12) {-8}
13) {1, 3} 14) {5,2} 15) {5, -6} 16) {1, -5}
17) {1, 0} 18) {-3, 0} 19) {-4} 20) {-8, 6}
21) {-3,7} 22) {5, -1} 23) {-8,7} 24) {-8, -4}
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Assignment

Solve each equation by factoring.

1) b>+1=2b

3) 6n? —30=24n

5) n?=—4n

7) 5x* +20x =160

9) k*=9

11) n? + 12n=-32

13) 2x* =10 + 8x

15) 2n* =—14+ 16n

17) 7x* = -21x

19) n*=-7n+38

21) a* =25

23) 6x* +6x =180

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 10

Date

Period

2) v -35=-2v

4) X*+6x=7

6) 6a> —6a=0

8) 5x* =10x + 75

10) m? —2m=15

12) 3p? +27p=-42

14) b* - 13b=-40

16) 3r*=3r

18) a’-6=-a

20) v =16 —6v

22) 5k* —20 =—15k

24) x* + 12x=-35
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Answers to Assignment (ID: 10)

1) {1} 2) {5,-7} 3) {5,-1} 4) {1,-7;
5) {4, 0} 6) {1, 0} 7) {-8,4} 8) {-3,5}
9) {-3,3} 10) {5, -3} 11) {-8, -4} 12) {-7,-2}
13) {5, -1} 14) {5, 8} 15) {1, 7} 16) {1, 0}
17) {-3, 0} 18) {-3,2} 19) {-8, 1} 20) {-8,2}
21) {5, -5} 22) {1, -4} 23) {5, -6} 24) {-7,-5}
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